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IMPROVEMENT/SUPPLEMENTARY EXAMINATION, OCTOBER 2022

Part-11 Time : 2% Hours
ARABIC Cool-off time : 15 Minutes

Maximum : 80 Scores

(e I

eneral Instructions to Candidates :
e There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.

e Read questions carefully before answering.

\ e Read the instructions carefully. /

Answer any EIGHT questions from 1 to 10, each carries 1 score.
8x1=38)
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Answer any FIVE questions from 11 to 16, each carries 3 scores.
(5x3=15)
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Answer any FIVE questions from 17 to 24, each carries S scores.

(5 x 5=25)
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Answer any FOUR questions from 25 to 30, each carries 6 scores.
(4 x6=24)
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Rashid is an Engineer. He is working in a company. His wife is a Doctor. She

is working in a Government Hospital. They have two children.
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Answer any ONE question from 31 to 32, each carries 8 scores.
(1 x8=38)
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